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I, The covariance f;
a.  Must be between -1 and +1 {
b Can be positive |
¢ Can be positive or negative '
d Must be less than +] :
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Given that ryy = 0.5 when raw scores on variables A and B are used. What will the r be if each score was converted to a “percentage” scores?

a. 0.00
b.  «<0.50
c. 0.50
d.  >0.50

A campus program evenly enrolls undergraduate and graduate students. If a random sample of 4 students is selected from the program to be interviewed about the

introduction of a new fast food outet on the ground floor of the campus building, what is the probability that all 4 students selected are undergraduate students?
a. 0.0256

0.0625 4

b. B
c. 0.16 : i
d. 0.0725

An insurance company has called a consulting firm to determine if the company has an unusually high number of false insurance claims. It is known that the industry
proportion for false claims is 3%, The consulting firm has decided to randomly and independently sample 100 of the company’s insurance claims. They believe the
number of these 100 that are false will yield the information the company desires,

a.  Normal distribution

b.  Binomial distribution

¢.  Poisson distribution

d.  Hypergeometric distribution

If the low-scoring examinees on A were removed, then r will be

e
s
Al g
A
a. 0.00 j
b. <050
c. 0.50 %
4 >050 /)j
Z(Y-Y’)P will be zero when
a. r=0
b.  r=+lor-l
C. Syr =
d. Sy, = 1.00

Researchers determined that 60 tissues is the average number of tissues used during a cold. Suppose a random sample of 100 Kleenex users yielded the following data on

the number of tissues used during a cold: X = 52,.8 = 22. Suppose the alternative we wanted to test was H,: p < 60. State the correct rejection regions for a = 0.05
a. Reject H, if t > 1.6604 ’

b, Reject H, if t < -1.6604
¢ Reject H,ift > 1.9842 or Z < -1.9842
d. Reject 4, if 1< -1.9842

Itis possible to directly compare the results of a confidence interval estimate to the results obtained by testing a null hypothesis if
A two-tailed test for p is used

A one-tailed test for p is used

Both of the previous statements are true

None of the previous statements is true

&0 oo

It & study concerned with the refationship between X and Y, it is found that 64% of the variance in Y is associated with X. Thus rxy must have been
a. 0.64

b.  0.80
c. 0.08
d  0.09

0. Given a normal distribution with =50 and & =S, if a sample of n=100 is selected, what is the probability that X is less than 47?

a.  virtually zero

b.  0.0]
c. 0.5
d. 095

- If we have two independent random samples from normal distributions with variances & and &7, then (S?/ 02) (S} /57 )have what distribution, where S

represents the sample variance?
"~ & tdistribution
normal distribution

b.
C. xz distribution
d.  Fdistribution

. If in 2 sample of size n=16 selected from an underlying normal distribution population, the sample mean X =56 and the sample standard deviation is $=12, what is the

value of the t-test statistic if you are testing the null hypothesis H, that p =350
|
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For a given level of significance, if the sample size is increase, the probability of committing a Type I error will increase.

If P(4 and B) = 1, then A and B must be collectively exhaustive.
The p-value is the smallest value of ¢ for which the null hypothesis can be rejected.
Y will have a sampling distribution that is approximately normal if the sample size is large. The formal statement of this result is called the central limit theorem.
If A and B are mutually exclusive events, then P(A L B)=P(A)+P(B).
B RURTE(EE 16 22)
What is the difference between mutually exclusive events and collectively exhaustive events?(6 43)
A hotel chain has identically sized resorts in § locations. The data that follow resulted from analyzing the hotel occupancies on randomly selected days in the 5 locations.
ANOVA table
Caymen Pennkamp California Mayaguez Maui S QUree d4f SS MS__F K
Location 4  963.6 A B C
28 40 21 37 22 a B
Error D 2100 E
33 35 21 47 19 Total o =
41 33 27 45 25 0
a. Fill out the blanks of A, B, C, B, E, F.and G. (7 53)
b. The value of the element in the ANOVA table that always provides an estimate of the population variance is ?(3 43"
9 ARG 50 57) o ‘ N
| An anthropologist wishes to estimate the average height of men for a certain race of people. If the population standard deviation is assumgd to be 2.5 inches and it she
randomly samples 100 men, find the probabiliry that difference between the sample mean and the true population mean will not exceed 0.5 inch. (8 53)
2. According to a recent New York Times/CBS News poll, 60% of the 1429 adults interviewed were unable to name an elected official whom they admired. s there
sufficient evidence to claim that a majority of adults are unable to name an elected official whom they admire? Use a 0.0 significance level. (10 )
3. A chemical process has produced on the average, 800 tons of chemical per day. The daily yields for the past week are 785, 805,~ 7‘90,. 793, and 802 tons. Do _these dafe
indicate that the average vield is less than 800 tons, and hence that something is wrong with the process? Test at the 5% level of significance.  What assumptions must
be satisfied in order for the procedure you used to analyze these data to be valid? Give bounds for the associated p-value. (12 43)
4. t _
1f random samples of 200 Priceline.com customers are selected, what proportion of samples is likely to have between 35% and 40% who take advantage of online
customer service? (8 43)
5. Suppose that patrons of a restaurant were asked whether they preferred beer or whether they preferred wine. 70% said that they preferred beer. 60% of the patrons were

male. 80% of the males preferred beer,

a. The probability a randomly selected patron prefers wine is? (2 53) ‘
Suppose 3 randomly selected patron prefers wine. Then the probability the patron is a male is? (5 1) S o

Online customer service is a key element of online retailing. According to W3J Market Data Group, 37.5% of Priceline.com customers take advantage of this service.
Suppose a randomly selected patron is a female. Then the probability the patron prefers beer is? (5 47) }
|
|
|
|
|
|
|
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